[ Efficiency vs vertpos |

~ 0.2
o

$0.12
0.1

0.08fF -+ P By
0.0BF+---weesimeeeeeees s :

0.04
0.02

T e R o ;
2 F : : :
2,0.06f e e '
o - . . .

TRV, SRR S A— s
(&) . . .

...................................

...................................

TR S

Ratio

0.950 : :
1072 107 1

10 0
TP vertr (cn%)

2

— —e— DQM_original_1000evt
Efficiend . pom fitted4_1000evt

—=— DQM_original_originalvector_1000evt

~ 0.5
$0.45
0.4

>

<
£0.35
0.3
0.25
0.2
0.15
0.1
0.05

Vs

effic

...........

...........

...........

1.0

Ratio

9935~ =20 -10 0 10

20

30

TP vert z (cm)

[ Effici

ency vs. sim PV z |

N~ 0.
>
8.0.09
£
&0.08
£0.07
3
£0.06
£0.05
(]
0.04
0.03
0.02
0.01

..............................................

..............................................

1.9

Ratio

=

|
T -

P06 5 0 5 10

15

20

Sim. PV z (cm)




	Contents
	Page 1


